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Q.2 (a) Analyze the three-span beam shown in figure 2(a) below
using moment distribution method. Draw the BMD.
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FIGURE~- Q2(a)

FIGURE — Q3(a)

Q.3(b) Analyze im quadrangular frame as shown in figure 3(b) below having

(b) Analyze the frame shown in figure 2(b) below using slope \ 2 | : i |
hinge at joint C, using the stiffness method. Draw BMD and SFD.Take

deflection method. Draw the BMD for the frame.

! El = copstant for all the members.
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: (c) mxu_m:# Muller Breslau principle.
| Q.4 (a) >=m_ﬁm a two hinged symmetric parabolic arch having span L and rise
(© Analyze the frame shown in figure 2 (c) above using moment f, subjected to a static udl w/run in full|span length at crown level.
distribuion method. Draw the BMD for the frame. Obtain ﬂmm&o:m and draw BMD.
| (b) A nmc_m_ of span L carries equally spaced dewnward load P, at quarter
Q.3(a) Analyze the truss shown in figure 3(a) below using the span points. Verify that the cable takes the shape of a funicular
xibility method. Take AE constant for all the members. polygon. |
Determine forces in all the members. Take Fpp, =Q as !
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